Scantron Instructions
Use #2 Pencil
Filling out test key
1. When filling out the test key, The ID box should only be used when you have multiple Test Keys. Otherwise the box should be left blank

[image: image1.png]KEVID
600 |




2. Be sure to fill out the item count box on the Test Key completely. The item count represents the number of questions given on the exam.
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3. If there is more than one test key (4 is the maximum) the number of keys box must be completed. If you are using only one key then leave the box blank.
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4. Select your exam scoring options from the “Scoring and Printing Options” box.  Note each form has different options
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Form 95677 – You must select either, “Correct Answer”, “Mark X”, or “Total Only” in the “Scoring and Printing Options” box. You can only mark one option in this box and one must be filled out for the scoring to work correctly.

Sample Answer Sheets 
Form No. 95677
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